Chapter 9
For technical assistance with ACL, please contact technical support: 604-669-4225; info@acl.com; 

http://www.acl.com/supportcenter/
(Note: Unless otherwise instructed, please submit your answers to the following problems to your instructor in a word processing document. Roger Company files can be downloaded from the  Course-Wide Content on the Student Edition of your text’s Online Learning Center.)
Problem 1
In addition to determining sample size, ACL can also select a random sample for you.  Draw a sample of Accounts Receivable (AR) transactions from the Roger Company AR table assuming the confidence is 95, the upper error limit is 9 percent, and the expected error rate is 5 percent. 

1. Open the Roger_Company_AR table

2. Select Sampling >> Sample Records
3. In the Sample Dialogue box make sure Record is the chosen sample type

4. Under Sample Parameters, click on the Random option

5. Click on the Size button so the Size Dialogue box opens

6. Enter the parameters as specified above (Note: The Population field should automatically have a value in it.)

7. Click on Calculate, click on OK
8. In the To field, type “Roger AR Sample”

9. Click OK
10. How many records are in the new Roger Company AR Sample table?

Problem 2
Assuming that the electronic data were difficult to obtain and that the client compiled the electronic data only for the sample you selected in Problem 1, evaluate the effectiveness of the control that the invoice date should always precede the due date.

1. Create a filter in the Roger AR Sample table for the control described above

2. How many exceptions are there to the control above? 
3. Select Sampling from the menu toolbar and click on Evaluate Error
4. Make sure Record is the selected sample type

5. Enter the appropriate parameters (i.e., Confidence 95, Sample Size 175, and the number of exceptions you observed)

6. Click OK
7. What is the upper error limit frequency?

Based on the results from the operations you completed above, can the control be considered effective? Why or why not?
Problem 3

Determine an appropriate sample size to test the Roger_Company_AR table using monetary unit sampling by following the directions below.

1. Open the Roger_Company_AR table

2. Sum the Amount field

3. Select Sampling >> Calculate Sample Size
4. In the Size dialogue box make sure Monetary is the chosen sample type

5. Input the following:

· Confidence is 92 percent

· Population is the sum of the Amount field

· Materiality is 10,000

· Expected Total Errors is 1500

6. Click on Calculate
7. What is the appropriate sample size?

Problem 4

Create a Roger Company MUS Sample table (or file) by selecting Sample >> Sample Records. Make sure MUS is the chosen sample type and Fixed Interval is the chosen option under Sample Parameters. Enter the appropriate Interval value from the results in Problem 3, and chose 350 as the Start. Ignore the Cutoff. Save the table as “Roger Company MUS Sample”. How many records are in the sample table? Why is the sample size different from what was calculated in Problem 3? 

Problem 5
Use ACL to complete questions b and c of problem 9-21 in your textbook.  

